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Pasca : Z=X+Y

COPY AX,X
T~ ADD AX,Y

COPY CN1,AX
COPY AX,CN1
COPY Z,AX
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COPY AX,X

001011100010100
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*COPY AX,X *




IP

IR

CF

AX

CPU

10
11
12
13
14

20(X)
21(Y)
22(2)
23(CN1)

*COPY AX,X *

*ADD AX,Y *

*COPY CN1,AX*

*COPY AX,CN1*

*COPY Z,AX *
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IR

IR

IP

IP




IP

10 [ *COPY AX,X *

1A 11 | *ADD AX.,Y *

IR 12 | *COPY CN1,AX*

13 [ *COPY AX,CN1*

*B0BY BMAXNX*

14 | *COPY Z,AX *

CF
20(X) 7
21(Y 4

AX Q)
22(2) 10
17 23(CN1) 10

CPU



P88

COPY AX,mem

COPY mem, AX

mem

AX

mem

AX
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ADD AX,mem
SUB AX,mem
MUL AX,mem

DIV AX,mem

AX:

AX:

AX:

AX:

AX

AX

AX

AX

mem

mem

mem

mem
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CMP AX,mem CF:= AX - mem
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JMP labl IP:= labl

JNB labl 1T CF >= 0 then IP = labl

JB labl iT CF < 0 then IP = labl
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IN AX

OUT AX

AX

AX
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Readln, Writeln
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IN AX
OUT AX
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IN AX
COPY M1, AX
MUL AX,M1
ouT AX
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IP

na

IR

*EQRY WX, MK *

CF

AX

0

CPU

10
11
12
13
14

20(M1)

/7

49

*IN AX

*

*COPY M1,AX *

*MUL  AX,M1 *

*OUT AX

*
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IN AX
COPY A,AX
IN AX
COPY B,AX
COPY AX,A
DIV AX,B
OUT AX
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IP

1

IR

*DOVY BXAR *

CF

AX

18

10
11
12
13
14
15
16

15
3 20CA)

CPU

21(B)

*IN AX

*COPY A,AX

*IN AX

*COPY B,AX

*COPY AX,A

*DIV AX,B

*OUT AX
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L1 ADD AX,A
JMP L1



IP

1@

IR

*AUBb AX,A

x*

CF

AX

21

CPU

10(L1)
11

20(A)

*ADD AX,A

*

*IMP L1

*




L1

COPY
ADD
OuT
CMP
JB

AX,MO
AX,M1
AX
AX,M10
L1



IP

18P

IR

*QEPY AX,MQO*

CF

-0

AX

CPU

N\

10
11(L1)
12
13
14

20(MO0)

21(M1)
22(M10)

2

*COPY AX,MO *

*ADD

AX,M1 *

*0OUT

AX *

*CMP

AX,M10*

*JB

L1 *
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IP

ERRT REETX

CF

-10

AX

10

IN AX
COPY M1,AX

\\

““““‘**SUB AX,M1
R CMP AX,M1

)|

OuUT AX

\\\\\\\\\ NEXT
SUB AX M1
COPY M1,AX
T*COPY AX,M1

CPU

\ 10




COPY, ADD, CMP
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) Z:=(X+Y)
IP '
316»| *COPY AX,X *
11 11 | *ADD AX,Y *
IR 12 | *COPY CN1,AX*
13 | *COPY AX,CN1*
“CoPY AX.X T 14 | *COPY Z ,AX *
CF
20(X) 7
21(Y 4
AX () 5
7 e 0

22(2)




